ANGLICTINA

pro nejmladsi skolaky
vJAZYKOVEM STUDIU ROLINO

“ ve Skolnim roce 2019/20

* 21.-38. lekce — 2. pololeti *

N

29. lekce - kli¢
_——
ro vyuku cizich jazykia studenti pod vedenim lektori z Jazykového studia ROLINO.

Student:
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Prague §th - lothﬂphll

Drilem: + suidime prith&hovy pfitomny &as a prosty piftomny &as

* "Which is/was bigger?”

* "Can you find ... 7" -"¥Yes; 1 can” #/ "No, I'can’t.”

* "Who is it (are they) for?" // "Who was it (were they) for?"

* minuly Cas (préteritum) sloves: "get, come, bring" (otizka+kladng odpovéd)

* piivlastiiovéni: "Tom’s ball", "Jane’s doll"

* 2. a3.stupei kritkych pfidavnych jmen: "old / older / the oldest, young / younger / the youngest,
small / smaller / the smallest, tall / taller / the tallest, long / longer / the longest, short / shorter /
the shortest, fast / faster / the fastest, slow / slower / the slowest, big / bigger / the biggest, sad /
sadder / the saddest, fat / fatter / the fattest, slim / slimmer / the slimmest, thin / thinner / the
thinnest, happy / happier / the happiest, easy / easier / the easiest, dirty / dirtier / the dirtiest”

* fadové cCislovky: "first, second, third, fourth, fifth, sixth, seventh"

* vyjmenovat za sebou viech dvanéct mésici v roce &esky i anglicky

* zopakovat texty: "EASTER MONDAY IN PRAGUE" (str. 25 ), "EASTER" (str. 26),

"EASTER PRESENT" (str. 28+29)

custom [kastam] |=| zvyk
It must be funny!| [fani] |=| To musi byt legra¢ni!

Nejprve dopliite chybéjicr pismena a pak reprodukujte nasledujici rozhovor.

Two- boys;, Tomv and Johwny are tadking about Easter.
Johw (g an Englishv boy, Tom g a Czechv boy.

Johw: ¢ Why do- the boysy spank the girly with o rod every Easter
Mon day?

Tom: @ It g o Czech custom The girly always gi ve ws Ea ster eggs
and, some times they drenchv us too:

Johw: @ It wust be funiny!
How marny Easter eBgy did yow get last yeawr?

Tom: @ I got thwee: One from my mother, one from my i ster and
one from my frie nd Kate.

Johw: @ Di d the girly drench yow?
Towmu @ My friend Kate did; but my mpPther and wy sister didn't
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chocolate ice cream [Cokalat] |=| Cokolddova zmrzlina

He is looking at Alice. a =| On se (prave) diva na Alici.
bike [baik] |=| jizdni kolo

ride [raid] |=| jet, jezdit

hold [hould] |=| drZet

hand - [heend] |=| ruka

he ..... in his right hand =| on ..... ve své pravé ruce
crash [kre$] |=| vrazit, narazit

He is crashing into the tree. =| On (pravé) nardZi do stromu.
Alice is giving him ..... =| Alice mu (pravé) davi .....
Tom is giving her ..... =| Tom ji (prave) dava ... |

TEXT

‘Complete.

(1) 1t's Alice’s birthday today.
Ahwmwverybug/dvocolaﬂs'/wo/cr@am

She Wk e y ice creamu

Tom likes ice cr € am; too:
Tomw is lo-O king at Alice:
He is very hung ry.
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@) Crashi
Tow is crasivi_ng into-

§kolaky v jazykovém studiu ROLINO

(5) Tom is sit ting under the tree

He st very happy. He is sad
the tree: e

(6) Alice ix givV ing him her ice cream
Tow sy giving her a floW er.
They are haD _py.

Answer and complete. Look at the picture "one".

® Does Alice hawve o very big chocolate ice cream?

® Yes, Alice _has_____ a very big chocolate ice creamu

® Doesy Tom have o very big chocolate ice cream?
& No. Tom _doesn't

have o very big chocolate ice cream
Alice N85 ___ a very big chocolate _iCE cream

¢ Iy Towm helding a flower i hisy right hand?
¢ Yeg, Tom _iS___ holding a flower in hisy right hand.
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@ Iy Alice holding a flower in her right hand?

ONo;Al,i,ce isn't holding a flower in her right hand.
_____ holding o flower in his right hand.

¢ Iy Alice riding her bike very fast?

® No; Alice isn't riding her bike very fast:

CED

Answer and complete. Look at the picture "six".

& Arve they sad?
® No; they __aren't sad;

| They _arf€__ happy. [@ ) @]

Zopakujme si predlozky. V.ukebné schovime velikonozni vajitka. Otizka + edpovid.

“in, behind, in front of, on, under, beside, next to, between"

‘ 1)The first child is jumping. 2)The second child is dancing. 3)The third child is
[w alking. 4)The fourth child is sitting. 5)The fiﬁn child is slceping. .. e

| 1)The flm ice cream i)small. This ice cream s green.
2)The second ice cream(is smaller than the first ice cream. This ice cream/is sed.
3)The third ice cream (is)the smallest of all. This i ice cream (is)yellow.

2) (3)
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